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1) 2 ueusdi g9 AR @Rl A, B, C »id D 48 18 uadl 8.
1) There are FOUR sections in the question papér A, B, C and D having total 18
questions

2) €8 Wl g5 s o AR GaR 8.
2) There 1s only ONE correct answer for-each question.

3)  uRAEA bl 2RI
3) Follow usual symbols.

4)  udlauddl UMy 2 scisedl 9.
4) The EXAM is of 2 hours duration.

[dena A
(M2d sHis 1 4l 4, €354l 1 901 8.)

1. Log_ (cost/, + i sin f) =
(A) (nm + B)i B) (@n+ O
(C©) (2n - Dmi (D) (Cnzx — )i
i (cos%—kisin%)27 =
I 1
Aa) 1 B)-1  (© -5 D) 5
3. tanag" = __
ra 1 (ma V¥, 2 (may
(A) 180 73 (180) s (180) = s
ma_ 1 (ma ¥, 2 (7may
®) 180+ 37 (180) + 57 ({80) *
a1 (ma V¥, 2 (may
© 1ao+3(Teg) +5 (&)
ma _ 1 maV 2 (may
O 156~ 3r(T80) + = (T5) -
4. 0 <l s5uQ dRals »ea s Gud W o = @)
(A) cos O +isin £  (B) cos # -isinf
(C) sin § + i cos @ (D) sin § - icos §
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[dena B

s (une 54is 5 ol 8, 223l 2 91 8.) 8
1— cosh@+ sinhf _
= 1+ coshf — sinh &
A) coth g (B) tanh [}
( 2 - 2
g 2l
| (C) tan & (D) cot 5
: |
6. & tanh %—=tan% , 64 dl sec x = : ‘L
(A) cosech x (B) sech x
1 (C) cosh x (D) coth x
i x =ay
A tan1(1x+a)—
(&) — 5 logy B)  ology
: !
© -5logl ™ 5 log?
8. sin 116 <l [Ba2gd Seq ue 9,
(&) sin!! & (B) —llcosf sin'f
(C) 1lcosf sin'®f (D) — sin" @
[Geus C
(M2l sHis 9 @l 14, €5l 3 Q0 8.) 18
9. cosec (@+if) <l siculds ol 8.
2cose sinh f8 , —2cosa sinh 5
(A) cosh 28— cos 2 (B) cosh2a — cos 28
2cosa sinh f§ —2cosasinh ff
© cosh 2@ — cos 2f3 (D) cosh 28 — cos 2«
|
Wi
S
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10. i=
A) ¢lnr3) B) o mE)
@ el+3) D) 2=t E)

o (R - eew
(A) cos nfl + isin nf (B)  cos ”g - gin ng_
(C) cos nf — isin nf (D) cos rzg + fsin ng

12. cos 94, secd =
(A) cos® G+36cos® § sin? A+126c0s* Osin® §-+84cos? Gsin® G+9sin® ¢
(B) cos® 0-84cos® @ sin? §+126cos* fsin? H—36cos> fsin® G+9sin® #
(C) cos8 §+84cos® § sin? +126c0s* fsin* B+36c0s2 Hsin f+9sin? 6’

(D) cos® §-36c0s° § sin? O+126cos* Osin® O- S4cos? dsin® G+9sin® #

13 cosh™ (cothf) =
) )
(A) log coth 5 (B) log cot 5
g 12
(C) log tanh 5 (D) log tan -
2 2
+ = x 4 =
14. o4 sin (v + ) =x+ 1 &1 dl o
2 2
b Y
1- +
Wl cos®u .. 1 cos” it
2 2
¥ X
-1- -1+
(@ =1 cos” i D) : cos’u
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EICTNE )

(weet Wiz 15 2l 18, €351 5 o1 ©.) 20
15. of sinh (f+ i¢)=cosa+ising, € dl cos* ¢=
(A) cos’t (B) cos® «
C) sin’ a | D) sin’ 6
16. log, sin (x + i) <l dlalds MRl B,
1 cosh 2x — cos 2y 1 [ cosh 2y + cos 2x |
(A) 7 log [ 5 B) 7 log | 2
1 cosh 2y — cos 2x 1 [ cosh 2x+ cos 2y |
©) 10ge{ 5 (D) 5 log | 7
17.  of wlsRel x2 — 2x+4=0 <l ofley @ wd f € dl
Qn + B 1 — (n e N)
o0 cos - (B) 27 cos 4
) 27t cps 1%5 | (D) 2" cos 1%5
18 lim b* sin*all — a’sin*bf  _
: 60 b* tan’all — a* tan” b0
¥ il
(A 5 B) a
i ~ i
) (D) 2

P0065
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ENGLISH VERSION
SECTION A -
(Question number 1 to 4, each is of 1 mark) 4
1. Log, (cosf, + i sin §) =

(A) (nm+ i (B) (2n + O

(C) @2n - Omi Dy  (@nr - O
: B, (COS%+iSin%)27 =
(A) 1 ®m-1 © -+ O3
. 2 2
; 3 tan @° =

za _1{mayV_ 2(rmay

; @ {e5-3 %) *+5 (180)

31 \180 51
4. For any real or complex values of 8, ¥ =
(A) cos f + isin 0 (B) cos 6 - isin @
(C) sin @ + i cos 0 (D) sin & - icos &
RAN-1803000201030031-D | [6] [ Cont




SECTION B
‘ (Question number 5 to 8, each is of 2 mark) 8
. B
4 1—coshfl + sinhd _
= 1+ cosh# — sinh §
(A) coth & ®) tanh £
© tn & ™ et s
6. If tanh %= tan% , then sec x =
(A) cosechx (B)  sechx
(C) cosh x {D) coth x
- X—ay _
7 tan™’ (lx - a) =
2 los ) B) Zlog?
@)~ L2 @)~ = el
2 98y 2 V8
8. The last term in the expansion of sin 118 is :
(A) sin'' ¢ (B) —llcosf sin'd
B [lcosd sin'°f (D) - sin'' @
SECTION C _
(Question number 9 to 14, each is of 3 mark) 18
9. Imaginary part of cosec (a+ if) is =
2 cosa sinh 8 — 2 cosa sinh f8
A
£ cosh 28 — cos 2a (B) cosh2a — cos 23
2cosa sinhfS —2cosa sinh 8
gy —=cosasmnp
© cosh2a — cos 2f3 (D) cosh 23 — cos 2a

i
w8
=
=
24
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10. 7=
A) e lrt3) @) ()
© ) ®) =)

e (1iegiiang) - ———@e
(A) cos nf + isin nf (B)  cos ng - isin n—g—
(C) cos nf — isin ng (D)  cos ng + isin ”g

1.2: cos 90 secll =
(A) cos® G+36¢cos® § sin? G+126cos* Fsin® G+84cos® fsin® G+9sin® 4
(B) cos® §-84cos® § sin* #+126c0s* fsin* §—-36c0s? fsin® G+9sin’® 4
(C) cos® #+84cos® # sin® f+126c0s* fsin* §+36cos? Psin® H+9sint 0

(D) cos® §-36cos® § sin> §+126¢c0s* fsin* §-84cos? Fsin® G+9sin®

13, cosh™t (cothdl) =

(A) log coth % (B) log cot g
6 0
(C) log tanh 5 (D) log tan >
xQ
: PP _
14. If sin (u + iv) = x + iy, then S
2 2
Y N
A — +
S cos” i ®) 1 cos?u
Y’ Y’
=e= ' =l
© cos’ U D) ! cos*u
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16.

ke

18.

SECTION D
(Question number 15 to 18, each ‘is of 5 mark)

If sinh (0+ i) =cosa+isina, then cos* ¢=
(A) cos*d (B) cos’a

(C) sin’ @ | (D) sin? @

Real part of log sin (x + i) is

1 cosh2x — cos 2y 1. cosh 2y + cos 2x
(A) 3 log ) (B) 5 log, [ 5

1 cosh 2y — cos 2x 1 cosh 2x + cos 2y
© § log [ ® 5 loa [

If ¢ and S are the roots of the equation x* — 2x+4=0 then

a'+p"= . (n €N

A} 27 cog nic (B) 2" cos R
3 3

(C) 2 cos 2L (D) 277 cos &
6 6

e b’ sin“af — a’sin’bf  _
60 b* tan”afl — a* tan® bl

@) 5 - N
. © -7

20
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(1) &% ur ko 8, -
() oruell cuspi 2is el yau opet yud B,
(38) uAfQd W3 2.

Q.1 izl g5t et ovetier 200, (o i) : (10)
(1) il Al Al cvay 200 243 345 3 x 3 Faifig Qs+ Gersail 2414).
(?) «sﬁAJé _OJ w{-‘LB=[? 8] &t ol Wl 523 4B = _p4
243 2 |
B =i S 2 wg 4 AR ¢R WBuL R (i) sl Wl AR e
£ 252 -3 AN '
4 514 14

(¥) v 2l - (5) AR et (if) iy S5
(W) wllseddl qs@A 2R 2rio sqeuu? RAURNL Al AX = B wiriry
@3 ol Wl Rt @i,
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ANCUERE | [T L

(<) oA A=[a,], & dlEEES Trac (AA) = ATrac (A); AeR

(9) i s Al AL 2icd-UEUA Wl AL HUCH- Y W
(¢) g ARl v 24l 2 g2l Y ot B B A A e SRS ¢
QA 4 3B A 2 Al ©.

02 IR uedaisll 0Bt d A Al eyeuet 2.
. @) AP RS R AR AR 4 A e A P+ iQ b ealdl us g
o opui PRl Q Gl AL B.

1 -1

(B) ‘AREAL RusRAL WE-AR5L e R avll oA 4= |—3 2
123 | .
B=|2 4 6] W2 dd wueld KU
123
© @@ ad4dBa AR S L SougL AR B w2 sl 5 BABT %‘d’
Al ©. )
Giy  Sioue Al 4 we el Y A4° 2 484 ol gillairt ARl
Q.3 A1t el o6 A A Al svattet 2l
e 1 3 4
@ ARsa=)3 —16 AL ozt AR s sr-ubuRl-Al Gl
- -1 5 1
204l _
-1-3 3 -1
(b) s sR-uBuEiAl Gulbl sl A= ; __1 s "_2] _03 A ¢R ¥
o -1 1 0 0
el sauall. 4
01 3 -1 4 6
. 20-4 1 2 -5
afis ¢r-Uddl Gl s3A 4=
© el é_t-’eu[%aulru@ql RA=\1, 2 o0 -1 7
o B 34-2 1 1 2
A gRR-sleals AL |
Q.4 D3 uednell oL & A Al vl L.
o @ -3 2udd s ARl Ghet er-ubuEdAl Gt s34 Ao
T x4+ 3y+2z=0
=g & Bz=0
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R.

-4 Uiy
Qs ¢

A s §

tal o
ot i |

BABT

14 2AlS15)

1 Gwalal

o gIR Al

14 Al

3x—5y+4z=0

x+17y+4z=0

(b) 2 RONRHL {0 el G st €U Al §lR- Bl
Gl s34 Ao, b;;pr” £ -\c\:*«
2x-y+3z=38 %)
—x+2y+z=4 <| LIBRARY ,g )
3x+ y-4z=0 \""

-.__‘_J\“)p* -/

© AR A= [ ]a»w Rsel As A,

Q.5 IR alatiefl oL & A i syetior i), (10)
(a) s AR -l e 2l ey B 53 Y g AREAL 21
HEL AU SIY 8,
231
(b) Al 4=(1 2 5| w2 ¥ell-Bcen L 304 el $34L.
' 342
L1208
(b) - As 4= |0 —4 2| A Bucuyey Me dau el A UICHHEA Ul
: 0 0 7
AcHAUEIL A,
ENGLISH VERSION
Instructions: |

(1) All questions are compulsory

(2) Digits to the right of each question indicate its marks.
(3) Follow usual symbols.

Q.1 Answer any FIVE as directed. ' (10)

(I) Give definition of Hermitian matrix and give an illustration of 3 x 3
Skew - symmetric matrix.

. 5 1 |
) IfA=[5 _Oi] andB=L. (’)] then show that AB = ~BA.

RAN-1903000202030031 ] [3] . [PT.O.]



3)
(@)

(5)

(6)
(D

(8

Q.2
()
(b)
(c)
Q.3

(a)

(&)

3 2
If4= >33
= =3

then write the matrix after performing the

IV (ST SR B
Lth Lhh O

3
14 14
operation R, (%)
Define : (i) Inverse of a matrix (11} Non-singular Matrix
When does a systém of equations call inconsistent ? Write the condition
for a Non-Homogeneous system AX = B to have unique solution. 3

If A={a;] then show that Trac (AA) = ATrac (A); A € R.

HXH

Prove that unique eigen-value is obtained corresponding to given
eigen-vector for a matrix.

Define similar matrices and if B is similar matrix to A then prove that
A is similar matrix to B.

Answer any TWO from the following.

Prove that any square matrix A can be uniquely expressed as P+iQJ;
where both P and Q are Hermitian matrices.

State The Reversal Law for the Transpose of product of matrices’,

for the matrices and verify it for 4 =
123

B=12 46
1 2.3

1 -1 1
—3 2 —1{and
-2 1 0

(i) If Ais a symmetric matrix then for any matrix B show that BABT is

also a symmetric matrix.
(ii) For any matrix 4 show that 44° and 4°4 are Hermitian matrices

Answer any TWO from the following.
= 1 3 4
Find the inverse of matrix A={ 3 —1 6| by applying Elementary
-1 5 1

Row-Operations.

By applying Elementary Row-Operations express matrix

=1 ~5 3 —I
A= L1 =10 in to the Row-Reduced Echelon form
12 =& 2 =3 '
-11 0 0

D AN 10AYANASRARSLAAS T . - -

e




on

TS

18

(1

(10

(c)

Q.4
(a)
(b)
(c)
Q.5
(a)

(b)

(©

By applying Elementary Row-Operations find Row-rank of
01 3 -1 4 6]
20-41 2 -5

marix A=y 2 0 21 9
34-21 1 2
Answer any TWO from the following. (10)

Find the solution to the following Homogeneous system using Elementary
Row-Operations.

x+ 3yt z=0 - SENCEN
VoY e Ve
—y 43y = / 2/
2x—y+3z=0 (57
3x-5y+4z=0 }:;.,__;‘s:;;
x+17y+4z=0 \f‘”"\._\
\\:

.

Find the solution to the given Non-Homogeneous system of equations if
exists using Elementary Row-Operations.

2x-y+3z=8§
—X+2y+z=4
3x+ y—-4z=0 ,
Obtain the similar diagonal matrix for matrix A= [; ;]
Answer any TWO from the following,. (10)
Define characteristic matrix and prove that the eigen-values of two similar
matrices are same. -
23 1
Verify Cayley-Hamilton theorem for matrix 4= 125
1 2 3 342
Find eigen-values of matrix 4= [0 —4 2|. Also find the eigen
0 0 7

vector corresponding to the smailest eigen-value.

RAN-1903000202030031 ] [5] . [4320]
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Time: 2 Hours | V2 o\ [ Total Marks: 50
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: / Instructions {5\ j
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NeSs_
(1 ) Nl ol A
NALsEY
({1 saide @ Rardal Gad Garad w s qwdl. ) SeatNo.:
Fill up strictly the details of w signs on your answer book é’
Name of the Examination: (
w- |First Year B.Sc. (Sem.-|) j

Name of the Subject :
- ]yathematics Paper: MTH-202- integral calculus and Differential Equationsj

Subject Code No.: | 1903000202030032 |

\ Student’s Signature

e J

(2) a1t oy wredl Rapulq B,
(3) €2 usstell orugll oty a1 caida 6,
(4) e Wl 21230,

1. «ilélelt uselidi - oraitet 2. (o 4 i) 10

&

( 1) Heu iyl : Sj sin’ 2x dx

(2) Hey 9] : Sj sin® xcos’ x dx

(3) asx=yl EBigail y=1¢5=3 tilell Al donss Ao,
(4) asd (s,0) wllsRel a9,

(5) Gal: y= px—e¢”
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(6)

(7)

(8)

2

(2)

r

(3)

—

AN | Vi 'Y i

[Aset 203{ls291 sinx %+ dcosx y=1 <l Aseusis viguq Hoq,

1 2

(p*-1)" ———
exx

CRIpRES

“Al3ell Uaedia] oyquoy 2L, (28 4 &) 10

S cosec’ xdx;ne N 4 dgs11 A g,

1
. e di;ne N 2) S Coss4xdx
(l+x) g

-

[5act 2lledl (1) S
L& - S cot’ x dx

llaiett uadiai orion 2y, (2 d o) 10
U 47 = 1 ol [Sigai) Gomleigel] (o (1 H) Yeled) 2yl doyss fug),

U y=alog (sec )  2amn wllsvol dung)

45 x=a(f+sinf), y=q (1- cosf) < (s, g) AUl o),

{12l Naedieli svpoy 2yl (9l d oi) 10
ARllore s alsgr cuvyfig 59 4 dq Ghaaied] AU,
Biql : xgxy—-i- =y logx.

Gidj (sin x siny + seczx) dx -+ (~ cosx cos v+ tan® Vdv=0
<ot wadlai orquor 2], (2 d o) 10
GnDs;d;;f(D)=D"+P,b"“+P,_D”“2+ -

f(DZ) y=sinax;a €R ) [El[i[\a Q{&G‘l f(_} az) sin ax: - az):/__ 0 @.

..... T PineN,d oqiq) &

B4l : fo—~4y=2cos(%)

Bell s (Dz—(a-i- b) D+ ab)y=eax+ ebx,a¢b

RAN-1903000202030032] I21 o =
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English Version

Instructions .
1) As per the instruction no. 1 of page no. 1 /& = ,\

2) All questions are compulsory. - (LisrARy l: :

3) Figures to the right indicate marks of the questions. o - ’_,:I"/’

4.) Follow vsual notations. ' NJALSEY/

1. Answer any FIVE the following questions: ‘10

X

(1) Evaluate :‘S; sin’ 2x dix

(2) Evaluate : S-j sin’ xcos’ x dx

(3) Find the arc length of the curve x = y from the points y = 1 to y = 3.

(4) Define (s,0) equation of the curve.

(5) Solve: y=px—¢’

(6} Obtain integrating factor of the differential equation sinx gxz +4cosx y=1

1 2 _
(7 (Dz—l)x' CE

Fe
€ X

o

2. Answer any TWO of the following: 10

(1) Obtain the reduction formula of S cosec’ xdx:ne N

(2) Evaluate : (1) S‘: —l—gdx;nezv @) Sf G o

- (1 +x
(3) Find: S cot’ x dx

3. Answer any TWO of the following: 10
(1) Obtain arc length of the curve 4? = x> from the origin to the point (1, %)
(2) Find intrinsic equation of the curve y = a log (sec %)

(3) Obtain (s, @) equation of the curve x = a(6+sind), y=g4 (1—cosd)

RAN-1903000202030032 | [3] - | [PT.O.]
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4, Answer any TWO of the following: 10

(1) Define Lagrange’s differential equation and explain the method to solve it.
(2) Solve: x%-ﬁ- y= y2 logx.
(3) Solve: (sin x siny + seczx) dx+ (— cosx cosy + tanzy) dv=0

5. Answer any TWO of the following: 10

d

() ED=Z- f(D)=D"+PD" '+ pp '+ 4 P,;n€ N, then show

that f(Dz) y=sinax;a € R has a particular integral

— ! 2 Sinas fi—a)£.0
(2) Solve: %-— 4y =2 cos (%)

(3) SOlve:(Dz“(a+ b)D+ab) y= ™+ e” atb

RAN-1903610202030032 ] [4] ' [4320]
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(1) Section A-1 Mark each, Section B-2 Marks each,
(2) Section C-3 Marks each, Section B-5 Marks each

1.

(A)
(B)
(©)

(D)

(A)
(B)
©
(D)

(A)
(B)
©)
(D)

(A)
(B)

(©)
(D)

s x7 +37 =4 <l [0 (1, 2) 2420 a5l 244 dsell [Howl 9.

=y

2 *

ody=sinx+cosxcdl __
Y., =Y.VYREN

y3n=y,VnEN
Bor =V 6 ¥ IE B

y.=Y,VneEN

Rolle «ll M9y, <12l qrdlds @ w2 At 82 8.
fx)=x

f@=|xl;xe[-1,1]

F =12 xe[-1,1]

f@)=x|x|;x e [-1,1]

=y

o wilf2d 2934 89,

xe* — log(1 + x)
x—0 2

Lim
o)
o0
0

0

o o0

OOO

RAN-1803000201030032-D | [2] | [ Cont




5.
(A)

B)
©
D)

(A)
(B)
(©)
(D)

] »
(B)
©
(D)

Al
®)
©
D)

ontd.

RAN-1803000201030032-D ]

f(x) = (=3) (=T7¥; [3,7]; %2 Rolle <Al UHA AR

__13
A==
g
=13
= 15,
A= 3
st
i 13
lin'{z)xlogtanx qy 06
1
0
sl
2
-1

-

U y = sin x <l [6g (£1) 210910 asctt 21l a5t Bioe
Ll

-1;-1

—1;1

1; -1

Gﬁy=cos(ax+b)‘;ab,xERd?lyn:—

[31]

89,

[PTO.]
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10.

11.

12.

13.

(A)
©

(A)
(B)
©)
(D)

(A)
(B)
©
(D)

(A)
(B)
©
(D)

(A)
(B)
(C)

(D)

. 1+cosmx
T = = — &,
s-1  tan® mx 1Y

s ®) 2
1) D) 1

3 = (log ) ds<ll Ascl-uRala (gl 9.
(11); (8.8) |
(0.1);(8,¢%)

(1,0); (¢, 8)

(0.0; (¢, €)

®2ly=xexrﬂyn:__f.
e |x+ nl
éhfm
e [n—x]

x¢ [n—x]

=y

|

il

Gﬁy=emmﬂm+fﬁq&ax€R ¥,
a

o+ bz]%e“x cos (bx +c+ tan( =

[a? + bz]%e“x cos (bx + ¢+ cot™! (

el ol =

e e
e S

[a® + bz]%e“" sin (bx + ¢+ tan ! (

la? + bz]%e“" cos (bx +c+ tan‘lr(

o o
=

fix)=Inx;[1, €] Hle Lagrange «il UHY, AR
A=e+1

h=e-1

A=e¢e

A=e—2
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14.

15.

16.

17.

18.

(A)
(B)
©
D)

(A)
(B)
©
D)

(A)
(©

(B)
©
(D)

(A)
(B)
©
(D)

tan x e ~

Z/abc

9.
it (1, -1) B) (13);(1,-3)
(1,4) ; (1, ~4) D) (L9 (1,-9)

37 = x(x +3) a3l asdl-uRald [Giguil

Gﬁ‘y: emcos-lx ('i.\l
(A (I-xy ,-@n+1ly , ~@+m)y =0

1+, ,+@u+1ly  +@E+md)y =0

nt+l
(I +x2)y gl (271 — 7 ]-)y A5 ‘(n.'l_ mZ)yn =0

(L+xy ,,— @1y  —(@m-my =0

Jx)=x"; gx)=x, x &€ [a, b] €I dl Cauchy «ll UHU 2A4RIR

b-a
A 2
b—a

Il

S
i

+ Mo

/-{rab

Il

2
A=a+p
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ENGILISH VERSION

(1) Section A-1 Mark each, Section B-2 Marks cach,
(2) Section C-3 Marks each, Section B-5 Marks each

(A)
(B)
©
(D)

(A)
(B)
©)
(D)

(A)
B)
(©)
(D)

(A)
(B)
(©)
(D)

The curvature & radius of curvature for the curve x? + »* = 4 at the point 1
(1,2) s

=l
7 32

M
[N
LYY

Ify=sinx+cosxthen 1
V,=V.VneN

V,=Y.VneEN
Y,,=¥,VnEN

V.=y.,VneEN

By Rolle's theorem, for a real valued function f; the following is true 1
JSx)=x

J@)=lx|;x e [-1,1]

f@= 12 xe-L1]

S =xlx|;xe [-1,1]

: . : t I+x) .
The indeterminate form of 1111(1) e 1(;%( ) s . 1
X =

3

8 <log

RAN-1803000201030032-D ] [6] : [ Contd.



5 According to Rolle's theorem /' (x) = (x-3) (x~7)*; [3,7] 2

13
A) A=—73
3"
B) 4A=73
1
13
©) A="5
3
D) A=-73
6. The value of liné x log tanx is 2
e 1 B) 0
1
© 7 @) -1
1 7. The curvature & radius of curvature y = sin x at the point (% l)is 2
e 1:1
(B) -1;-1
)y -1:1
D) 1;-1
1 8. Ify=cos(ax+b),‘ab,x€Rthenyn=_ 2
" R ‘
(A) a cos(ax+b+T) |
L - ﬂ :
(B) asm(ax+b+ 2) ’
s - M_
W) " cos (ax+ b+ 7 )
. : 58
1 D) a sec(ax—l— b—l——z—)
9. The value of lim H—CQS—EE i 3
1 x—1 tan® wx
(A) = B) 2
‘ © 1 (D) 1
o
S
=

ontd. &  RAN-1803000201030032-D | [7] [PT.O. 18




10. The points of inflexion of the curve y = (log x)’ are

(A) (1.1);(8,8) (B) (01);(8,¢)

€) (1.0); (&, 8) D) (0.0); (¢, &)
11. Ify=xe‘theny =_ |

(A) e [x+ n

(B) e[x—n]

(C) e [n—x]

(D) x*[n—x]
12: Ify = e sin(bx + ¢); a,b,c, x €R theny = .

2 274 ax a

A) [a*+ b*]2e™ cos (bx+c+tan(c))

(B) [ + bz]%e“x cos (bx +c+cot™! (%))

© la®+ b2 e™ sin (bx +c+ tan! (%))

(D) [a’+ p?] i 2™ cos (bx +c+tan” 1(5))
13. Iffix) =Inx ; [ 1, e] then Lagrange's theorem

(A) A=e+1

B) A=e-1

(C) r=e

D) r=e-2
14. The value of lim %% is 8

X— S x
@) 7 : B
-

© 3 ® (~7)
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- 15. The value of lim (%1) sab,c, € R is 5
A) Vabce
&) VaroTc
S (C) —%abc
(DY %abc
16. The points of inflexion of the curve 32 = x(x +3)2are _____ . 5
(A (L1); (1, -1) ® (13):(1,-3)
© (149;(1, -4 D) (1.9).(1,-9
3
17. Ify= em='* then 5
(A) (-2 ,~Qn+ly - +m)y =0
B) I+, +CQat1ly, +@E+m)y =0
© U+x)y,,—Qn-1y , ~@-m)y,=0
(D) (Itxy,,-CQn-1)y , ~(-my =0
3 18. If fx)=x;g(x)=x, x € [a, b] 5
b L] =
B -t ®) A=434 |
(©) A=4%b D) A=a+b |
;‘
3
o
: =
ontd 3 RAN-1803000201030032-D | [91 [PTO.1&




